Intersection: W Charleston Rd at El Camino Real, Palo Alto, California
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= {
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1015
by
revision O,
refPoint {
lat 374104353,
long -1221233399,
elevation 150
by
lanewWidth 330,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},



nodelList nodes : {
{
delta node-XY4 : {
x 1239,
y 2415
}
by
{

delta node-XY4 : {
x 1698,
y 1844
}
by
{

delta node-XY4 : {
x 1758,
y 1974
}
by
{

delta node-XY4 : {
x 2330,
y 2308
}
by
{

delta node-XY5 : {
x 2978,
y 3260
}
by
{

delta node-XY6 : {
x 7967,
y 8917
}
by
{

delta node-XY4 : {
x 1896,
y 2235
}
}
by
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
by
{

connectingLane {

lane 31,

maneuver {maneuverRightAllowed}
b
signalGroup 4

}

lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
I



maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1432,
y 2163
}
b
{

delta node-XY4 : {
x 1643,
y 1815
}
by
{

delta node-XY4 : {
x 1845,
y 2044
}
by
{

delta node-XY3 : {
x 930,
y 907
}
by
{

delta node-XY4 : {
x 1478,
y 1452
}
by
{

delta node-XY5 : {
X 2863,
y 3210
}
by
{

delta node-XY6 : {
x 8032,
y 8979
}
by
{

delta node-XY4 : {
x 1807,
y 2133
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverStraightAllowed}
by
signalGroup 4
by
{

connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}

}
}
}y
{

lanelID 3,



ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1585,
y 1845
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x 1752,
y 1954
}
by
{
delta node-XY4 : {
x 2229,
y 2446
}
by
{

delta node-XY2 : {
x 284,
y 684
}
}
b
connectsTo {
{
connectingLane {
lane 16,
maneuver {maneuverLeftAllowed}
by
signalGroup 7
}
}
by
{
lanelID 4,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2586,
y 742
by
attributes {
dWwidth 30
}
by
{

delta node-XY3 : {
x 367,
y 1114



}
}y
{

delta node-XY3 : {
X 663,
y 1194
}
}
by
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}

}

}
by
{
lanelID 5,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2019,
y 1216
}
by
{

delta node-XY4 : {
x 1597,
y 1834
}
by
{
delta node-XY5 : {
x 3454,
y 4020
}
by
{

delta node-XY5 : {
x 3628,
y 4094
}
by
{

delta node-XY6 : {
x 8003,
y 8867
}
by
{

delta node-XY4 : {
x 1751,
y 1981

}

}

b

{
laneID o,
egressApproach 2,



laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1823,
y 1467
b
attributes {
dWwidth -30
}
by
{

delta node-XY4 : {
x 1663,
y 1923
}
by
{

delta node-XY5 : {
x 3364,
y 3864
}
by
{

delta node-XY5 : {
x 3556,
y 4012
}
by
{

delta node-XY6 : {
x 8009,
y 8960
}
by
{
delta node-XY4 : {

x 1875,
y 2103

lanelID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 2559,
y 386
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782



}
s
dwidth 30
}
}y
{

delta node-XY3
x 95,
y —-1099
}
by
{
delta node-XY3
x 854,
y -1476
}
by
{

delta node-XY1
x 16,
y —-397
}
}
by
connectsTo {

{

connectingLane {

lane 4,

{

{

{

maneuver {maneuverRightAllowed}

by
signalGroup 6
}
}
by
{
laneID 8,

ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodelList nodes : {
{
delta node-XY3
x 1820,
y 68
}
by
{

delta node-XY4
x 1704,
y —2654
}
by
{

delta node-XY5
x 3151,
y —4962
}
by
{
delta node-XY4
x 1791,
y —-3060
}
by

{

{

{

{



delta node-XY4 : {
x 1787,
y —2951
}
I
{

delta node-XY4 : {
x 1659,
y —2872
}
by
{

delta node-XY4 : {
x 1366,
y —2095
}
}
I
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 31,
maneuver {maneuverStraightAllowed}

by
signalGroup 6

laneID 9,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1609,
y =229
}
by
{

delta node-XY4 : {
x 1784,
y —2754
}
by
{

delta node-XY5 : {
x 2804,
y —4353
}
by
{

delta node-XY4 : {
x 1985,
y —3441
}
by



delta node-XY4
x 1795,
y —-2931
}
by
{

delta node-XY4
x 1658,
y —-2920
}
by
{

delta node-XY4
x 1303,
y —2089
}
}
by
connectsTo {

{

connectingLane {

lane 32,

{

{

{

maneuver {maneuverStraightAllowed}

by
signalGroup 6
}
}
by
{
laneID 10,

ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodeList nodes : {
{
delta node-XY3
x 1447,
y —-479
}
by
{

delta node-XY4
x 1695,
y —2682
}
by
{

delta node-XY5
x 2537,
y —-4010
}
by
{

delta node-XY4
x 1983,
y -3416
}
by
{

delta node-XY4
x 1974,
y —-3318
}
by

{

{

{

{

{



delta node-XY4 : {
x 1669,
y —2866
}
I
{

delta node-XY4 : {
x 1355,
y -2151
}
}
by
connectsTo {
{
connectingLane {
lane 33,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
by
{

connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}

laneID 11,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1226,
y —-761
}
by
{

delta node-XY4 : {
x 1629,
y —2606
}
by
{

delta node-XY5 : {
x 4079,
y —6480
}
by
{

delta node-XY3 : {
x 728,
y =740
}
}
by
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverLeftAllowed}



bo
signalGroup 1

}y
{

connectingLane {
lane 12,
maneuver {maneuverStraightAllowed}

laneID 12,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1020,
y —-1034
}
by
{

delta node-XY4 : {
x 1535,
y —2447
}
by
{

delta node-XY5 : {
x 3533,
y —-5531
}
by
{

delta node-XY3 : {
x 8460,
y —-835
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 1
by
{

connectingLane {
lane 16,
maneuver {maneuverUTurnAllowed}
b
signalGroup 1
}
}
b
{
laneID 13,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},



laneType vehicle : {}
I
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =77,
y —-3692
}
b
{

delta node-XY3 : {
x 974,
y —487
}
by
{

delta node-XY3 : {
x 1121,
y —-1044
}
}
b
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 14,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 132,
y —-2250
}
by
{

delta node-XY4 : {
x 1886,
y —2973
}
by
{

delta node-XY5 : {
x 2656,
y —-4183
}
by
{
delta node-XY5 : {
x 2854,
y —4503
}
by
{

delta node-XY5 : {
x 3656,



y —-5805

}
I
connectsTo {
{
connectinglane {
lane 13,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1016

lanelID 15,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 359,
y —-1959
}
by
{

delta node-XY4 : {
x 1899,
y —-3014
}
by
{

delta node-XY5 : {
X 2632,
y —-4230
}
by
{

delta node-XY5 : {
x 2902,
y —4551
}
by
{

delta node-XY5 : {
x 3787,
y —-5915
}
}
b
connectsTo {
{
connectinglane {
lane 14,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1016



lanelID 16,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 565,
y -1691
}
by
{

delta node-XY4 : {
x 1932,
y —-3059
}
by
{

delta node-XY5 : {
x 2711,
y —4397
}
by
{

delta node-XY5 : {
x 2856,
y —-4360
}
by
{

delta node-XY5 : {
x 3764,
y —-5993
}
}
b
connectsTo {
{
connectinglane {
lane 15,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1016
}
by
{

connectingLane {
lane 17,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 17,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},

sharedWith {},
laneType vehicle : {}



by
maneuvers {maneuverLeftAllowed},

nodeList nodes : {
{
delta node-XY6 : {
x 5208,
y —-9147
}
by
{

delta node-XY3 : {
x 903,
y —-853
}
by
{

delta node-XY5 : {
x 2219,
y -3446
}
by
{

delta node-XY5 : {
x 3807,
y —-5827
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverLeftAllowed}

}
by
{
lanelID 18,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-438,
y —3557
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559

delta node-XY2 : {
x =594,
y —-231
}
by



delta node-XY2 : {
x =761,
y —-507
}
}
I
connectsTo {
{
connectingLane {
lane 13,
maneuver {maneuverRightAllowed}
b
signalGroup 8
}
}
b
{
laneID 19,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
I
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -784,
y —2677
}
b
{

delta node-XY3 : {
x =1009,
y -1618
}
by
{

delta node-XY4 : {
x -1881,
y —3442
}
by
{

delta node-XY5 : {
x -2405,
y —4457
}
by
{

delta node-XY4 : {

x —-1468,
y —-2313
}
}
b
connectsTo {

{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 18,



maneuver {maneuverStraightAllowed}

laneID 20,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1011,
y —-2350
}
by
{

delta node-XY3 : {
x -983,
y -1601
}
by
{

delta node-XY4 : {
x —-1343,
y —2553
}
by
{

delta node-XY3 : {
X -667,
y —-1234
}
by
{

delta node-XY5 : {
x -2318,
y —4342
}
by
{

delta node-XY4 : {
x =-1225,
y —2427
}
by
{

delta node-XY6 : {
x -4623,
y —-7599
}
by
{

delta node-XY4 : {
x —-1431,
y —-2540
}
by
{

delta node-XY5 : {
x -2881,
y —-5250
}
by



delta node-XY5 : {
x =-1973,
y -3596
}
}
I
connectsTo {
{
connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}
}
b
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
}

laneID 21,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x -1187,
y —2087
}
by
{

delta node-XY3 : {
x -1013,
y -1728
}
by
{
delta node-XY4 : {
x —-1804,
y =3200
}
by
{

delta node-XY2 : {
x 0,
y =723
}
}
by
connectsTo {
{
connectingLane {
lane 33,
maneuver {maneuverLeftAllowed}



by
signalGroup 3

}y
{

connectingLane {
lane 23,
maneuver {maneuverUTurnAllowed}

by
signalGroup 3

lanelID 22,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x -1668,
y -1326
}
by
{

delta node-XY4 : {
x -1408,
y —-2551
}
by
{

delta node-XY4 : {
x -1502,
y =2709
}
by
{

delta node-XY4 : {
x =-1239,
y —-2508
}
by
{

delta node-XY4 : {
x -1315,
y —2547
}
by
{

delta node-XY4 : {
x -1278,
y —2442
}
by
{

delta node-XY5 : {
x —-3042,
y —-5236
}
by
{

delta node-XY5 : {
x -2774,
y —4744

}



}y
{

delta node-XY4
x -1092,
y —-2023
}
by
{
delta node-XY4
x =-1903,
y —3491
}
by
{

delta node-XY4
x -1865,
y —3482
}
}
by
connectsTo {

{

connectingLane {

lane 25,

{

{

{

maneuver {maneuverStraightAllowed}

}
}
by
{
lanelID 23,

egressApproach 6,
laneAttributes {

directionalUse {egressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodeList nodes : {
{
delta node-XY4
x —-1447,
y -1618
}
by
{

delta node-XY4
x -1379,
y —2435
}
by
{

delta node-XY4
x -1899,
y —3473
}
by
{
delta node-XY3
x =793,
y -1666
}
by
{

delta node-XY4
x -1411,
y —2595
}
by

{



delta node-XY4 : {
x -1218,
y —2437
}
by
{

delta node-XY4 : {
x -1446,
y —2472
}
by
{

delta node-XY4 : {
x -1859,
y —2623
}
}
I
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 24,
maneuver {maneuverStraightAllowed}

lanelID 24,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x —-4725,
y —-7526
}
by
{

delta node-XY3 : {
x =247,
y —-1333
}
by
{

delta node-XY4 : {

x -1635,
y —-3062
}
}
}
by
{
lanelID 25,

egressApproach 6,
laneAttributes {
directionalUse {egressPath},



sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x -15318,
y -26086
}
by
{
delta node-XY3 : {
x =276,
y =1272
}
by
{

delta node-XY4 : {

x -1308,
y —=2379
}
}
}
by
{
lanelID 26,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1876,
y 239
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782

delta node-XY5 : {
x -2880,
y 4394
}
by
{

delta node-XY4 : {
x —-1488,
y 2776
}
}
b
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverRightAllowed}



bo
signalGroup 2

}

laneID 27,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1702,
y 487
}
by
{

delta node-XY5 : {
x =-2752,
y 4277
}
by
{

delta node-XY4 : {
x =1790,
y 2645
}
by
{

delta node-XY5 : {
x -2690,
y 4102
}
}
I
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
b
{

connectingLane {
lane 26,
maneuver {maneuverStraightAllowed}

laneID 28,
ingressApproach 7,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},

laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {

{

delta node-XY3 : {
x -1535,



y 798
}
b
{

delta node-XY5 : {
x —-2672,
y 4196
}
by
{

delta node-XY4 : {
x -1740,
y 2629
}
by
{

delta node-XY5 : {
x —-2654,
y 4026
}
}
b
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 29,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1324,
y 1094
}
by
{

delta node-XY5 : {
x -2517,
y 3903
}
by
{

delta node-XY4 : {
x -1828,
y 2825
}
by
{

delta node-XY4 : {
x -1874,
y 2840
}
by
{

delta node-XY3 : {
x =742,



y 1117

}
b
connectsTo {
{
connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 30,
maneuver {maneuverStraightAllowed}

laneID 30,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1121,
y 1361
by
attributes {
dwidth -30
}
by
{

delta node-XY5 : {
x —-2483,
y 3850
}
by
{

delta node-XY4 : {
x -1764,
y 2691
}
by
{

delta node-XY4 : {
x -1476,
y 2352
}
by
{

delta node-XY2 : {
x -699,
y 408
}
}
by
connectsTo {
{
connectingLane {
lane o,
maneuver {maneuverLeftAllowed}



bo
signalGroup 5

}y
{

connectingLane {
lane 33,
maneuver {maneuverUTurnAllowed}

b
signalGroup 5

laneID 31,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =212,
y 2734
by
attributes {
dwidth 60
}
by
{

delta node-XY4 : {
x -1396,
y 1856
}
by
{

delta node-XY3 : {
x =919,
y 1239
}
by
{

delta node-XY4 : {
x -1876,
y 2886
}
}
b
connectsTo {
{
connectinglane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1014

}

by

{
laneID 32,
egressApproach 8,
laneAttributes {

directionalUse {egressPath},
sharedWith {},



laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-428,
y 2457
}
by
{

delta node-XY4 : {
x -1451,
y 1935
}
by
{

delta node-XY3 : {
x =924,
y 1223
}
by
{

delta node-XY4 : {
x -1921,
y 2871
}
}
b
connectsTo {
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1014

laneID 33,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =607,
y 2200
}
by
{

delta node-XY4 : {
x -1560,
y 1987
}
by
{

delta node-XY3 : {
x —-958,
y 1275

}



}y
{

delta node-XY4 : {
x -1855,
y 2833
}
}
b
connectsTo {
{
connectinglane {
lane o,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1014

}
by
{
laneID 34,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
b
nodelList nodes : {
{
delta node-XY4 : {
x 822,
y 2903
by
attributes {
dWwidth -30
}
by
{

delta node-XY3 : {
x 834,
y —-1323
}
by
{

delta node-XY2 : {
x 458,
y —-904
}
by
{

delta node-XY2 : {
x 809,
y —-192
}
}
I
connectsTo {
{
connectingLane {
lane 35,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {
lane 37,



maneuver {maneuverLeftAllowed}
by
signalGroup 14
}
}
by
{
laneID 35,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
b
nodelList nodes : {
{
delta node-XY4 : {
x 2923,
y 484
}
by
{

delta node-XY2 : {
x =809,
y 192
}
by
{

delta node-XY5 : {
x —-259¢,
y —-3603
}
by
{

delta node-XY3 : {
x 186,
y —-1098
}
}
by
connectsTo {
{
connectingLane {
lane 34,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
by
{

connectingLane {
lane 36,
maneuver {maneuverRightAllowed}
Hy
signalGroup 16
}
}
},
{
laneID 36,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
by
nodeList nodes : {
{
delta node-XY4 : ({
x =296,



y —-4025
}
}y
{

delta node-XY3 : {
x —-186,
y 1098
}
by
{

delta node-XY4 : {
x -1460,
y 2098
}
}
by
connectsTo {
{
connectingLane {
lane 35,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
by
{

connectingLane {

lane 37,

maneuver {maneuverRightAllowed}
b
signalGroup 10

}
by
{
laneID 37,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY3 : {
x -2009,
y —-159
}
by
{

delta node-XY4 : {
x 2130,
y 3212
}
}
I
connectsTo {
{
connectingLane {
lane 34,
maneuver {maneuverRightAllowed}
b
signalGroup 12
b
{

connectingLane {

lane 36,

maneuver {maneuverLeftAllowed}
by
signalGroup 12






